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1. WETHMEL
(1) 1 5&AETMET
e e nf 77. 000
=T T — D10 L=140 VN 44. 000
P4 ¢3.2mm 100mmA v = ot 77. 000
fites =X 1. 000
Bz 2 ) —h a7 U— hk m3 6. 000
MEE= 7 U — R a7 U— k m3 8. 000
(2) 2 5FAETMET
e e nf 75. 000
T v — D10 1=140 EN 41.000
P4 ¢3.2mm 100mmA v = ot 75. 000
fites =X 1. 000
Bz 27 J—h a7 U— h m3 6. 000
MEE= 7 U — R a7 U— hk m3 7.000
(3) 3 5HAETLMET
e e nf 70. 000
=T T — D10 L=140 VN 39. 000
T4 ¢3.2mm 100mmA v 3 = ot 70. 000
fites =X 1. 000
Bz 27 J—h a7 U— k m3 6. 000
MEE= 7 J—k a7 U— hk m3 7.000
(4) 4 5HEAETMET
e e nf 90. 000
B A AT 7331 f 1. 000
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=T T — D10 L=140 VN 59. 000
T4 ¢3.2mm 100mmA v 3 = ot 90. 000
fites =X 1. 000
Bz 27 J—h a7 U— hk m3 4.000
MEE= 7 J—k a7 U— h m3 9. 000
2. L
(1) 1 5¥%ETAGK
AT ABZ T ] 6. 000
R % 1k K i % ] 6. 000
B E~HE ] 1. 000
W7k ¥ L ] 1. 000
AR A 14. 000
(2) 2 F¥ETAGK
AT ABZ T | 6. 000
R % 1k K i % ] 6. 000
B E~RE ] 1. 000
W7k ¥ L ] 1. 000
AR A 21. 000
(3) 3 k&K
AT ABEZ T ] 6. 000
R % 1k K i % ] 6. 000
B E~RE ] 1. 000
W7k ¥ L =] 1. 000
AR A 14. 000

(4) 4 5T
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TAE - fRR - A0 Kiks AL o W &

WAELKEZ L [ 6. 000

{RCR% Lk 7K it 7% [E] 6. 000

ElE A~ E [ 1. 000

W7k HEfig T ] 1. 000

LIl E R A 21. 000
. O
(1) SR RB 1 f Rk

KRB

KRB
KERA (pH) B 1. 000
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(1) BEEBUK K AfiE T
e e nf 54. 000
=T T — D10 L=140 VN 44. 000
T4 ¢3.2mm 100mmA v = ot 54. 000
fites =X 1. 000
B =227 U —k a7 U— hk m3 10. 000
MEE= 7 U — R a7 U— k m3 4.000
2. L
(1) FRHEBUK MR
AT ABEZ T ] 5. 000
R % 1k K i % ] 4.000
W7k ¥ L =] 1. 000
AR 7 L—2 A 5. 000
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